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2-10
Resultant of a Nonconcurrent Coplanar Force system

Concurrent Coplanar Force System
The line of action of the Resultant passes through a common point.
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Nonconcurrent Coplanar Force System
There is no point of concurrency.
The location of the line of action of the resultant (R) is not immediately known.
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Magnitude of the Resultant
Rx = ∑ Fx
		       	
Ry = ∑ Fy

Direction of the Resultant

α  = tan–1  

Ɵ is determined by which Quadrant the Resultant lies in.

Location of the Resultant
The location of the line of action of the resultant can be determined by the requirement of the moments.
If two force systems are equivalent, the resultant moments of the two systems about an arbitrary point 
must be equal.
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Solution.


